
GPA Par System 

An Overview of Its Practical Use 

Here are 3 stages that have been used in Level 3 matches, from simple to fairly 
complex stages, with the results shown as a comparison. We’ll apply the PAR 
calculator to them and describe the how and why for each. 

Example 1 (See stage design on next page) 

The first is a seated stage, gun on the table, hands on knees, reloads on 
person. The non-threats in front of the shooter are positioned so that the 2 end 
targets are not visible without shifting to one side or the other. The targets are 
7 yards from the seat. The center of the 5 threats is unobstructed by the non-
threats and the 2 left or right of center target have the edge of the non-threat in 
line with the edge of the head – they only cover 1” of the down zero on the one 
side of the targets. 

Even though the gun is on the table, the “draw” is the same 1.0 sec. 

1 reload required, 15 shots, no position changes, no style shots. 

The complexity factor could be debated. Keep in mind, however, that this is for 
top-level shooters and the non-threats are largely a non-issue for them. As far 
as the shifting in the seat for target acquisition, they would start leaning to one 
side and during reload shift to the opposite side to grab their mag and acquire 
the final target(s). With a Complexity Factor (CF) of zero, 4 shooters out of 144 
made Platinum. Knowing who these shooters are, the numbers match the 
estimated results.  
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Example 2 (See stage design on next page) 

This stage has you draw and engage 2 targets SHO, then from the opposite 
side of the barricade engage 2 targets WHO.  You then move to P1 followed by   
P2. Each target requires 3 rounds. 

Draw, reload, 24 rounds.  

For Position Changes – you could say 2 OR 3. You have the obvious, 
move from SP to P1 then to P2 =’s 2 PC’s, since you need to shift to the 
opposite side of the barrel AND switch hands for target engagement you 
could call this a PC also. I would say NO but since you are switching 
hands, add this as a Complexity Factor instead. Either way it adds 2 
seconds to the formula.  

We also have Style factor, 12 rounds in SHO/WHO. (1 style factor for 
each shot required in that manner.) 

CF’s call for 2, one for the switching hands and the other for a long 
distance to travel to get from P1 to P2.  

Let’s see how this works out. 
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6 made Platinum here. Again, knowing the shooters this is correct. 

 

 

Example 3 (See stage design on next page) 

This gets a bit more complex. There are targets shot from SP (which is P1), then 
on the way to P2 targets get shot through a port, upon leaving P2 more targets 
from in the open, then at P3 a final target. This would be 4 PC’s – P1 to the Port, 
Port to P2, P2 to “in the open”, “In the open” to P3. 

So, Draw, Reload, 22 rounds, 4 PC’s, NO Style shots, 1 CF for the non-threat 
position while in the open. 
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The actual scores for the competitors in a match show that the is a good 
representation of the calculator working. There may be some that are 
somewhat high or low but with over 200 matches, we have seen this work out 
within the match totals very well. 

 


